restart;

f := x->x+sin(x);
fi= x> x+ sin(x)

f(3);
3 + sin(3)

V = int(Pi*f(x)A2, x = 0 .. 4);

V:=2 1rsin(4) - % 1T cos(4) sin(4) + %O T - 8 11 C0S(4)

simplify(V);
- % (-12 sin(4) + 3 cos(4) sin(4) - 140 + 48 cos(4)) 1T

V2 := Pi*((1/3)*4A3-(2%4)*cos(4)+2*sin(4)+2-(1/4)*sin(8));
V2= Tl'( 7?0 - 8 cos(4) + 2 sin(4) - i sin(8)j

A = V-V2;
. 1 . 70
A:= 2 1rsin(4) - E 1T cos(4) sin(4) + ? T - 8 11 C0S(4)
- Tl'( 7?0 - 8 cos(4) + 2 sin(4) - i sin(8)]
simplify(A);
0

g := x->x/(1-x);

gi=Xx—-

1-x
V3 = int(Pi*g(x)A2, x = 0 .. 1/2);
V3:= ; -2 1mIn(2)



